
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

# Picture Description Quantity 

A  Tabletop 1 

B  Large Leg 1 

C  Small Leg 1 

D  Bolt – M8 x 20mm 4 

E  Bolt – M8 x 40mm 1 

F  Flat Washer – M8 5 

G  Allen Key – M4 1 

PRODUCT ASSEMBLY INSTRUCTIONS 

Instructions Item#: LOMBARD OVAL COFFEE TABLE 

• Step 4: Place the tabletop upside down on the floor as 

seen. Make sure it’s on a safe surface where the table 

cannot be scratched and or damaged. 

• Step 5: Align the preassembled legs with the tabletop 

holes as seen. 

• Step 6: Using the Allen Key M8 screw down the (4 Bolt – 

M8 x 20mm; 4 Flat Washer – M8) to connect the legs and 

the tabletop.  

• Step 7: Using the Allen Key you will tighten the bolts until 

the legs are firmly attached to the tabletop. 

• Step 8: Flip the table over upright as seen.  

• Step 9: Test the table is firmly on the ground and the table 

does not wiggle. 

• Sep 10: Sit and enjoy your new table. 

Helpers needed to assemble: 2 

Estimate time frame to assemble: 30 minutes 

• Step 1: Identify the large leg and the small leg. 

• Step 2: Align the table legs with the small leg under the large leg as seen. 

• Step 3: Using the Allen Key M8 screw in the (1 Bolt – M8 x 40mm; 1 Flat Washer – M8) to connect both legs 

together. Tighten the bolt until the leg is firmly attached.  


